Divergent Box Integral 5: 1P7=72(0, p3, p2, p%; 512, 523; 0, 0,0, 0)
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The result for the box integral (see figure) with three off-shell legs is [?]

2€
IP=424(0, p3, p3, 12 812, $23: 0, 0,0, 0) = ——
4 ( 2013 Py 2120 223 ) (823812 - p%pi)
2 . —€ . —€ (. 2\—€ (¢ 2\—€ ([ 2\—¢
X 2 (—s12) ¢+ (—s93) (—p3) (—p3) (—=p1)7°)

b () =)+ 2 () ) ) o)

P p 92,9 B
. 2L12( —&) —2L12< —&) + 2Ly <1— Pabi ) —1n2< S”)} +O(e).
512 593 512523 —S523

Explicit instructions on the continuation are given in ref. [?].

An alternative result[?] deals with the continuation in a more graceful way. We introduce the notation
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The three-mass scalar box integral in this expression is
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